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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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P5_0, Day=12 (2025-04-16)

w——Ff———Ff—— ——Ff—— - - =1 800
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 630 0d70
75 —600v’|—\
44467 °
50 390 91| 400 T
=
25 - 200 -
18 Warning: lcol [FVI',| "FVO’'] missing 54
01— = - - 01
_ ( o vi — MW P
vl— 150 T FP_\_/ maXM I 30
+
C
=
Q 100‘ ----------------------------------------------------------- | 29 Zl
E
= 501 - 28
[
1.0 27
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2300. 0, | TargetSetEC=2500. 0 —>— EcBx10%
o ECC
2600
------------------------------ % x % e Tt ST
2400 - ® L)
[ )
[ )
7.04 TargetPH=6.5, TargetSetPH=6.5 —¢  PHB*10%
o PHC
B. 5 e e e e e ¢ > > S [ IRVLY WSS
6.0 @
[ ) o
[ [ )
1
1 . . = = = u
= 150 Bylnit @D13 q3.13. ET=345 |Fg=400. 0 Ro=37.0 600 @
c 1 c
o 1 =
o 1 o
T 100 i —$—8—8—8 |02
< 1 E
E l 5
~ 501 , - 200 £
[in] 1 o
> o - o e o
0 P PN ol P P \ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
1504 P | BA | BB [ PH | BE [R5 | RE | RE | 5 | R i 5 5 5 | FA 5 5 5 i 5 5 5 i 5 600 2
. - :
— ByEt @D12 18:38: ET=417 Fg=450. 0 Ro=nan 1 —
2 0] 1 - e i8 & s & o S
£ l - 400 2
< 1 E
c I 5
~ 501 | - 200 £
[in] 1 o
p—S =] \ 4 @ o—&— \I\F 1
0 a PS a o P ﬂ’/’/ \M 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
1501 FA 1A | I BH [ [MBH BT (ZE[(Z2F[(Z2E[(25|%25| B |Z| 2R |ER|ER|EC|EE |55 |55 |55|%50 600 2
& ! _ _ _ &
s ByWoFv @D13 q3:13: ET=391 Fg=400.0 Ro=38.0 ——o—@ ® s
100 - i &—o—0—0 4002
< 1 E
= 1
£ |
~ 50+ : T - 200 'E
Y p—e—eo—eo—0—0—0— B 3
1.0 PN PN PN PN 7S ﬂ’/’/ﬂ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl A | B [HH | B | MM |BI|ZE |[ZEIZE[(ZC|ZT|Z25| W || 25 (B0 |8|25|ZR |50 |(25|(55|%5T
0.6 -
0.4 1
0.2 A
—
[ ] | _obs
—@— PPFD obs
n
80 -
60
RH
[ ] RH_obs
40 7 (] RHo_obs
0. e v #
oy Y




30.

30.

29.

29.

28.

28.

30.

29.

29,

28.

m=530, FV0=0

5
—o— W 29.50 4 ~@— MW
0 -
29. 25 A
5 29. 00 A
o 28.75 -
28. 50 A
5 -
28. 25 A
-
0 T T T T T T T T
500 600 700 800 900 530 535 540
m=830,m FV0=0 m=890,m FV0=0
—— MW —— MW
0- 30. 25 -
30. 00 A
9] 29.75
29. 50 A
0 -
29. 25 A
29. 00 A
5 -
T T T T T T
830 835 840 890 895 900
m=650,m FV0=0 m=740,m FV0=0
0 1.0
8 0.8 1
6 0.6 -
4 0.4 -
2 0.2 -
Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
0 T T T T O- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8

.0

30.

29.

29.

28.

m=650, FV0=0

—— MW

650

T
655 660

Warning: col ["M_E’] missing

0.2

T T
0.4 0.6 0.8

m=830, FV0=0

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

30.

29.

29.

m=740, FV0=0
—0— MW
0_
5_
0_
T T T
740 745 750
m=530,m FV0=0
0
8_
6_
4_
2_
Warning: col ["M_E’'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0
m=890, FV0=0
0
8_
6_
4_
2_
Warning: col ["M_E’'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0



hour

8:00

9:05

10:30

11:40

12:50

14:05

100

80

60

40

20



P5

BjiE) | JEBEETIC (7)) | EBLE (EH/#K) =5 R

08:00 70 100.0 Z| 1BRig008:00 Fzh (KEERESE)
09:05 70 100.0 5| {Ri%@09:05 F3h (FAERSE)
10:30 70 100.0 F[ BRi1%010:30 Fz1 CGRAEREEE)
11:40 70 100.0 El Rige11:40 Fzh (KRAERSE)
12:50 70 100.0 El BRi&e12:50 Fz1 CGRAEREE)
14:05 70 100. 0 F|  {Rige14:05 Fzh (KRE{ERSE)
=it 420.0 (6%) 600. 0 3ZHKEC: 2402.0, PH: 6.5

WREHRERIRA (0.95) , FRE

EREBRIRILTFERK (1.24 vs 0.95)), AIEER ZAREEREEIRK

FEREHERE STEIEARF (87.0 :

EORGEBRB AR IRAR BRI (70 vs 122.0))

ZRIALPRIERES7. 0 ml.

57.0), ATREKREEZRE

FURGERIEC (1920.0) HigE(E (2500.0) REK K, BFRE.
LRGEBIEC (1920.0) 5REVEY (2402.0) RERK, BEE.




P5_0, Day=11 (2025-04-15)
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